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QUESTION 1

The IBM Cloud Kubernetes Service cluster autoscaler is available for standard clusters that are set up with which of the
following networks? 

A. VPN 

B. Public 

C. Hybrid 

D. Private 

Correct Answer: B 

 

QUESTION 2

What is an option for a developer tasked to create APIs for a business service using the API Gateway on IBM Cloud? 

A. Submitting a WAR/JAR file to a static analysis tool to autocreate APIs based on business logic 

B. Importing APIs using Swagger/OpenAPI definitions stored on .json. .yml and .yaml files 

C. Creating Kubernetes services resources that will automatically create API for each Service resource on API Connect 

D. Importing APIs stored in .zip files 

Correct Answer: B 

 

QUESTION 3

A company defined a strategic goal to move applications to cloud. In this context, all new projects developed must be
cloud-native. A developer starting a new project should follow which strategy? 

A. The application must use PaaS in public clouds and be portable among them 

B. The application must be scalable and run in a dynamic environment 

C. The application must be stateless and use serverless architecture 

D. The application must use a CORBA buffer to integrate APIs 

Correct Answer: D 

 

QUESTION 4

Which of the following can be used when a social networking site on Classic Infrastructure is expecting traffic to spike
and requires more resources during the holiday season? 
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A. Schedule-based 

B. Auto-Scaling 

C. Resource-based 

D. Network-based 

Correct Answer: B 

 

QUESTION 5

An e-commerce mobile application needs to understand individual user\\'s interactions to define a personalized product
recommendation Which of the following configuration can help the application to collect necessary data? 

A. Enable the IBM Watson Analytics for MobileFirst settings to true in the application descriptor file 

B. Integrate the mobile application with IBM Analytics Engine 

C. Enable LogMetrics in IBM MobileFirst Platform on IBM cloud portal 

D. Initialize the MobileFirst Analytics SDK and enable the capture of lifecycle and network analytic data 

Correct Answer: D 
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